c
a
a2+ b2 = ¢?

8. Tafind Reference Angie 0

QUAD 1,0 isref x_ QUAD n.a is

B RS

: 180 -«
2 distance a*\](xz- Xy ) + ()'.2-)'1)2 ‘/—\ r‘-'\
Po(%.30)e f |9/VT Ny
! - I: v
ADINO i In QUADIV,0 :
f_ ‘ 'pl(xl'yl) ‘ @ (a- 1;0') gJGO“-a)6 )
> 9. Rules of COFUNCTIONS
T r _
y . \
0 sn = cos(90-9)
~ N 7% | o = 5in (90-0)
# tm@= cot (90-9)
x cotd = tn-(90-9 )
»c = cc(90-0 )
r2=xl 4y? QR e vo 10
or - COTERMINAL angies
t r=%/32+ y2 @3 ten 5o
| wt cowrminal X =@ + n(360°)
Qu Ces 5, where § is original
Sec mnd n = ineger
5. Trig, Functions Reciprocals 11. Iﬂﬁinmmmmm
i . =L right .
cosg = X c® = L, x#0 leg
tan g = Y. x=0 cote=—x-. y£&£0 adpcent
X y leg
Quadrantal Angles/unit ¢ircle nX= ® x=
( 25 6, 5in8) ©.1) 90 . sm e cos AYP
cos = = .opp = adi
(-1,0) (1,0) . X =g caX = L
’ Bln 90 =l mx = __HE C"CX = m
./ ° adj opp
. -1y cos 180 =-] 12, 7 L
7. Right Triangle Patterns qky
depression angle of
' T clevation
1




13, Chenging Degreen to BEadizns
x .
(# of Degrees) 180 ) =& of Radians

Chsnging Radians to Degrees

(lofRndi-:)('l-?:)-lchm

14 ARC length in radizns

L = @ % r
wclogh  mgk  kmghof
radians eacizie

18 ldentities
. 1 R
=8 =27 me--—e-::e
. |
cosg "=t “agg_g_
"‘9”;1'5'

l"llze+w826 =] .
mze + 1 =mze

.
(2]
o

i
Py N e
g
#
g.
»

B &

sinl

sinD

1]

15. Properties of sine and cosine
rin(6 )= -snf
cos(-0) = cos
Change the sign for;
(X +@ ) for both rine and corine

(220 Yorsine (-7~ &)
( -8 )forcose

15. sum/difference iden, for cosine

cos(@-B)=cos*cos B +zinc * nf

coc(a-}ﬂ):coga#coaﬂ -gin O *&m B

20. sum/differenes jdentities for sine

sn(C- f)=sngt v cos B - cos ot *xin P
sin (X+PB)=sin ¢ *cos f +coscx * =nP

ZLMM:AMLEnzmnln

_16. Most often vsed Graphs

g =sin X
T 1L

g

, 2%
3=

z
2

F=C0LX

En20= 2% zgng cos X
cos2Q =cos2qy - sin’x
cos20 =203y - 1

cos2@=1- 2 * sin’cx

22. Half Angle Formulas

+ 1-cosqe
2

sin (59 =

y=unx : ! ‘ ) -
i ' B 2 2
i ‘2
' ! 23. Lawofsines (use when given
17. AAS or ASA)
y=a .sinx a _ b c
y=a g, cosx sSnA s ==
lal is amplimde mB snC
- ;’ - :1% ; Xx 24 Lawof cosines (use when given a’z ba*ca‘szf"sA
nto peniod tells period of € =a"+ b - 2ab=%x cosC
adjusted graph 25 - - JA<Z’ a<E =
for sine and cosine . Ambiguous case for  A's s
2g mim‘m . m when given SSA. @‘é”"";' "|°A 14
= 10d - : 1.2, or i O= D S
e e o mmgs tomes | 62030k J

=) A 7790° a_.‘.}z r\u.{-\\




27. Heron's Formmmla:
=..1.(a+b+c)
2

arca = /s (s-8)(8-b)(8-¢)

28. Inverse Relations
(ower came "a")

griginal : y=sinx

inveree x=siny

proper. Y = arc =in x

symbolism o

y==n" x

29. Inverse Functions (capital "A")

origimal y=snx
inverse  y = Arcsin x

fonction -
90°<y<90° | 0° sy s 180°
use quadrants use

I andIV Iand T

Arc gin o Arc cos
Arccsc yz2¢C Arc sec YFR*
Arcian < caly Arccot <€ Mly‘

3p. SP&g{AlAfEE Cha-t
Anjlc ¢ 30 .45 6o 90

I
sin | 0 X T% ﬁ(i |
|G 193 -




CUMULATIVE TEST: CHAPTERS 1-§

Choose the correct answer, Write the letter of your chaice in the answer cofumn.

11-1) 1. Find the distance between P, (—4,=3) and £, (1,1).
a 9 . b 20 e 3V3 RRVLY DU
(1-2) 2. Find the quadrant which contzins the terminal side of
an angle f in standard position and with a measure of
275°.
a. I b, IV e II d 1 2
11-2 3. The terminal side of an angle § in standard position
paeses through the point Pl=1,-3). Find cos 6.
/ AT AT R S
S B 0. b 10— G T d. 5 —
w4, Ifmn § = —2 and @ is in Quadrant I[, find sec §.
B a. -Vv5 b. V5 c. 5V5 d. -5V5 4o
11-51 5. For an angle § in standard pesition where § = =225°,
find the measure of its reference angle.
a. 225° b, 45° c. 148° o d. 138° S — — o
6. The terminal side of an angle in standard position
passes thrcugh P(—1,v/3). Find the measure of this
angle. .
a. 120° b. 240° c. 60° d. 330° - T
_ Ve a Cjz./(af//ﬁf”f/ 7‘—0
T 118l 7. TR T ind
cos 38° 30"
a. -0.7716 b. 0.7671 c. —0.767 d. 0.7716 /S
A ’( ] N -
11-7 8. ’ (/CUZ’(%JZJ’D'Z/ "to find
cot 20° 15",
2. 1.7107 b. 1.7117 c. 2.7117 d. 2.7107 - F—
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(1-8)

11-91-

{(1-10)

{1-111

(1-12)

[{2]

10.

11.

12.

13.

in ARST, r=11ands=17. R
Fingd A to the nearest
ten minutes.

a. 30° 40’ b. 32° 50° s=17

c. 28°30 d. 34°20 - s g.
r=11

The top of a flagpole is sighted at an angle of elevation
of 48° from a point on the ground 25 meters from the
base of the pole. Find the height of the flagpole to the
nearest tenth of a meter,

a. 27.8m b. 27.5m c. 27.7m d 276m 10.

A cabin on the shore of a iake is
opposite a dock. Given the infor-
mation provided in the figure,
find d, the distance between the
cabin and the dock, to the
nearest tenth of a foot.

a 5724ft b 6009H
c. 5428ft  d. 1000.7 ft | 1.

A sloop, starting from point A, saiis 50 kilometers
west and then 75 kilometers due north. How far away
from point A is the sioop? Express the answer to the

- nearest tenth of a kilomerer.

a. 89.6 km b. 90.1 km c. 92.0km d. 85.5 km 12. .
A truss for a bridge is constructed X

with measurements as shown. Find '

the length, to the nearest tenth of - 20° _

a meter, of the tie rod, XY. - Y —

a 85m b. 7.4m uh

c. 94m d 58m 13.

u -
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(2.1 14. Change 210° to radian measure in terms of .
7 3 5 ¢
a. z7 b. 5 c. g7 d. 37 14.
12-2) 158. Find the degree measure of an angle whose radian
measure is 3.1416.
a. 0 b. 60° 20 c. 180° d. 20° 60’ 15.
16. A central angle of "2£ radians in a circle with a radius of
8 centimeters subtends A8. Find the length of AB&.
a. 167 b. 27 c. 8«¢ d. 4r 16.
(2-3) During the intet 3 seconds, the angular displacement of
__\‘}Q a point P of an oRject in rotary motion is 2.5 radians. Find
ﬁ/ the angular velocityof this point in radians per second. .
' a 1.2 " b. 0.83 c. 7.5 d. 0.253 17.
(-1 18. Givensin 55° = 0.8192, find sin{~58°).
a. -—0.8218 b. 0.8219 c. 0.8182 d. -0.8182 18.
2-51  18. Select the function : Y
that best represents 31
the graph at the right. 27
1+
a. y=sinx+2 X
T 0 r = 3z 2=
( b, y=sinx —2 z
e y=cosx+2
d. y=cosx —2 18.
(2-60  20. Select the graph ihatfepresehts the function, y = 2 cosx.
a Y b 4
2£\ : 24
N[ I ,
0 \/ * 2n o} W 2z
-2 ~24
c Y d. y =
24 24
1 \ /\ X .\ ' x
VA S BN
-2 -2¢ | | 20.



(2-7 21.
(2-81 22
-0 23.
-1 248.
3-n 25.

286.
3-n 27,

Select the function
that represents the
graph at the right.

a. y=Ccos2x
b. y =sin 2x
e. y=2sinx

d. y=2cosx

Select the function
that represents the
graph at the right.

a. y =coslx —2n)
b. y =sin({x + 2w
c. y=sinlx —m)

d. y=cos(x+ 2

What is the value of sin g0° + sin 30°?

2 1 3
a. 3 b. 3 c. 3 d. 60
Select the function | b, Y |
that best represents . |l ll || “
the graph at the right. A ! !
. -2n ‘ / ‘ 0 |‘ n ‘l 2
a. secx b, w@nx | / iz “ }
c. coOtxX d. csc x :

Which of the foliowing is equivalentto 1 — sin*a?

a. cos‘a b. cosa c. tania d. 1

. . 1
What is another expression tor — 7

tan 3
a. cotf b. sinf c. —tanf d. —cotf
Find the expression that is an identity. -
sec§ . tan b secf twmanb _
3. Tosf  cotf 1 b. Tos6 ~ cotd !
.. cosf tanb _ 4 sece+coze=1

sec§ cotf - cosf w@nb

2% e—

22, eo———

23—

24. 5

25

26, ——

27—

e —— - -



(s,

¢

13-3) 28. Evaluate cos(% - g—). De=not:
a v'2 rve p, Y3 :-\/s c. -2 : v6 d. —\/2:\/5 28.
(3-a) 29, Evaluate sin (45° + 30°). Do-notuse-tables,
—\/6: V-2 b. \/6 :’\/5 c. -\/‘2—;’\/5 d. -\/- —2\/6 29.
(3-5) . Bcc\ . , evaluate tan (45° +30°). ‘
o a =2-V3 b. 2+V3 e. V3 d. 3 30.
3-6)  31. Evaluate sin 2a, given that o = 25°, sin @ =0.42, and cos a = 0.91.
a, 1.232 h, 0.372 s. 0.48 d. 0.788 31.
@-n  32. Evaluatesin -'85
a. 2-V2 b. V2+v2
e 3V2=v2 & EV2-V2 3z,
inx cos 2x as a sum.
h, cos 3x +cosx
2. cosBx 33.
«-u 34, In AABC, A 35) 8 =65°, and c = 6.0.
Find a to the rest tenth.
S\ a. 1.8 8.4 c. 3.5 d. 10.9 34.
4-27 35. In AABC, A=55° p=8.6,and c =6.5.
~~_ Findatw th;\n rest tenth.
SYP a. 7.2 ™71 . e 13 d. 7.0 35,
36. In AABC, a%s‘.s, b=8 c=12 Find A 1o the
nearest 10 m utes.
SYAR & 30200 b 30° 30 c. 38° 24 d. 111°17 36.
«-31  37. In AABC, A\= 50° ¢ =6, and a = 5. Find the number
of possible sojutions for this triangte.
6}// Q a. One b. Three c. Two d. None 37.



-5t 39, In AABC, A=45° h=6,cm;and c = 7 cm. Find the
area of the triangle to thle nearest tenth of a square
ﬁf ’ centimeter, AN
- RA
a 2lcm b. 42cm c. 14.8cm d. 29.6cm 3s.
4-6) 40. In AAST,r=5,5=6, and r= 7. Find the area of this
triangle to the neare%h of a square unit.
SUP . 2389 b. 44: c. 4.8 d. 24.0 40.
(S-1) 45. Find the inverse of y = cps x. o
a. y=sinx b. x =arccosy
c. y=arcsinx d. x=siny 45,
15-2) 46. Evaluate sin (Arc cos %).
a. 0.2 b. 78.5 c. 115 d. 0.9798 ag.
s-31  47. Evaluate cot (Arc tan 2).
a. 2.0000 b. 63.4 c. 0.5000 d. 89.1 47.
(s 48. Solve for x: sinx + cosx = 0. .
a. 45°;135° b. 45°; 225° ¢ 45°; 315° d. 135°; 315° 48.
(1s-51  A@. Change the gwe ular coordinates, (-1, 1), to
polar ccordmates >}°
Slvp a1, 9 (V2,135°) & (V2.5 2,2m  d. (=1,-m 9. __
1s-8) BB, Seiect the quétion that s0°
2
\ Jorg 14
180°
0 1 =
270°
d. r=7%sin 26 50.

(<)
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5. 4w A== | oo 2 '
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4. sin (4t 8)= sinetcooBt toaot ar, A
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Simplify cos x + sin® x sec x.

" a. sin® x b. tan®x C. COs x

Ifsinx = u then sec® x = _2__

a ! b. 1

C. =
| = us 1+ u? u?
Express cos 255° in simplest radical form.
2 Vs VB, -V VI \B
3 : 3 & 3

If f(x) has period 6, lhcnf(’\) has period _*_
a. 2 .3 c. l’

d. secx

\/1 - u-

d. 18

Which of the followmg 1s an equation of the cosine curve shown?

=2cos & = 2 cos TX
&L y=2cos3 b. y = 2cos 3
c. ¥ =2cos ‘;X d. v = 2cos 3z

1 = \f3
2

Which of the following is an equation of a
sine curve with maximum value 2. minimum
value 0. and period %'.’ -2

2 + sin 37X b. v = 2sin 3x

c. v=1 4+ sinb=x d v=1 +sinéx

State the period of the function defined by y = 2 tan =x.

a. | . b. 2 &g

Express 210° in radians.

o 18 h. 3¢ .

Express iaﬁ'rudium in degrees.

a. 630° b. 500° c. 330°

Find the exact value of sec (—‘T-)

ac —E b. —g c 2

Iftan s = \5 and —= <s<O0.thens=_"_.

a. - b. — 3¢ . -5
3 3 6

angle havlwo solutions?
a. 0 < h

I _AB%B = 30° and ¢ = 20. For what values of » will the tni-

b. 10 < b < 20 .20 < b

A triangular_tract, Of rorest land has .ndes of lengths 3 km. 6 km. and

d. 4v/Skm?

7 km. Fmd 115%
a. V135 km? b. 4km? - ‘c. §km?

Find .x in the adjucent figure.

a. \fb- b. 3\/1'
c. 2v% d. 6V1

d. 660°

d -1z

©

d. forno b

[ s

X

S P
(\DL !;"}

=)

-—
Rl

A



S

standard poxmon

via V34
I — b. R
4 3

2 1= b, —
15

l'l

C-‘

SIS

! [
a. ""2‘ b.i‘

Ifsind = %—, thencos2§ = _2__.
7 -~

or

-1
TS © T3

',\B

, Evaluate Cos“[co\ _;)]

/

@ Evaluate Sec™(~2).
L S b.

a, —

wr)

Give the exact value of cos 240°.

C.

c.

Find cos# if 1un g = -5 nd -0 <Ch < 90“

C.

l.u' 1

|

Find secd if the terminal side of @ passes through (=3, 3) when 4 is in

[N
rof—

d. nonexisient



a. AB b. OB c. OA d. none of these

¢
sin 150 =

. 4 ‘ o ) ©
a. sin 605 b. -sin 60 c. =-sin 30
d. sin 30 e. none of these

Name the terminal side of the illustrated angle?

How many revslutions does i+ take a wheel with a radius of 3
feet toO trave%/#;distance of 54T feet? .
6

a. 4.5 b. c. 9 d. 18

@
The value. of sin 30.- cos 60.+ cos 180 + sin 90°is:

a. 2 bs 1 c. =1 d. O

Which one of the following is the graph of a function?

B K b. 2% (3 c. <—j“a'
ey e /;\
N\

- 7.
‘/ P—/ T G ')L / 7Y
X

. ~
d. '1‘ N e. A%
/T " 3. - \I. D 4 > “ ?
1 i ? \\\\9 b 8
v ' v

= ®
What is the reference angle for 855 ?

(-] ® ® 5
ae 135 b. 45 ce5 d. none of these

The period of y = cos 2x is:

a. M b. ft/2 c. 2 d. 1 e. af”

(-]
Which of the following is equal to cos 67 ?
° ° . __o
a., csc 23 b. sec 23 c. sin 23
d. cos 23° e. none of these



10.

‘11,

12.

14,

lsl

16.

17.

\df—' Sin%}’

The figure at the right shows tbe A
graph of- Y = sin (l1/3)x. What 1s the
value of x at point p? -
a. 64 b. 3W c. w3 )
d. 2T/3 e. 3W /2

v

1f an angle is

N4

in standard position and the terminal side

contains the ordered pair (3,3), the measure of the angle is:
o o ] o :
a. 60 b. 22.5 c. 90 d. 45
The maximum value of the function y = 4 sin 1000x is:
a. 1000 b. 4 c. 1000 (2M) d. 4000
©
. What< is the reference angle for -300 7
(=] o o
a. -30 b. =60 c. 30 a. so°
13. arc Cos (-1) = i -
a. 180 p. 150 c. 270 d. 30 e. none of these.
rn tne figure at the righs, what
is «me v coordinate of point ? 12
sin x = 1/3 and OP = 87
. , O z}
a. a\2 b. 18 c. 2z =
d. 4 e. 2
v
1f sin x = 4/5, which statement is NOT TRUE?
a. %“an x = 4/3 b. cot x = 4/5-
c. csc x = 5/4 e. cos x = 3/5
What is the value of cos X if sin x = 1/4?
a. \J15/4 b. 3/4  c. 1IAN17 d. <l7/4 e. 1/(15
.~ i 2
If sin 60 + sin X + COS 60 =0, then one value of X is:
& o o) ()
a. O b. 30 c. 180 d. 270 e. none of these

18.

1f x is an angle in standard position with 2 measure of -500

in what quadrant does 1its terminal side lie?

_ ruy Y TTT ~ T d. II



19.

20.

2l.

22.

23.

25.

oX P

26.

/ . K .
IT cos 43010/= 0.7294 and cos 43°20 = 0.7274, find cos 43 137 (15
correct to four significant digits.

a. 0.7280 b. 0.6849 c. 0.6851 d. 0.7288

Which pair of angles are coterminal?

a. 225 and -135: b. 180, and 7202
c. 150° and -270 d. 135" and 420

sin x = cos ( 2 )

a. 90 + x b. 180 - x c. 90 - x d. x

Which of these three stattnents are NOT ALWAYS TRUE?

I sin (-x) = sin x
II cos (-x) = cos x
IIT sec (-x) = sec X
a. I is not always true b. II is not always true

c. III is not always true
d. None of these is always true

=]
civen AXYZ with X=60, y=2, and z=4. Find x.

.. 267 b, A3 e 268 d 4T e a3

x is an angle in standard position such that the point

L
(5,5) lies on its terminal side, sin x =

a. 1 b. 242 c. (2/2 d. 5

e ' ° .
Given A ABC with_ =,30, b=5, and c = 4. The area of Arsc =
a. S5/2 sg. units b. 10 sq. units
c. 2 sg. units ). L5 sq. andts

e. not enough information is given to find the area

1f x is an angle in standard position such that the point

"(0,6) is on its terminal ray, cos X =

a. {372 »b.\2/2 c. O d. 3/2



28.

29.

30.

31.

32.

33.

34.

'a: A

Solve for XxX:

_ p.s 10
£ A ———
Sin %} SW1J%-

a. s b. 52 e. 5§3 4. 10z

If x is an angle in standard position such that the point
(=3,0) lies on its terminal side, tan x =

a. O b. =3 c. 1 d. =1

What is the fundamental period for the sine function?

a. Ti/2 b, 271 c. I d. 3 e. none of these

What is the measure of an angle whose sine is twice the sine
- .
‘of 30 7 :

o (-] & (-
a. 120 b. 240 c. 30 d. 90

The angle of elevation of the sun is 74°frcm a point 15 feet

from the base of a flagpole. Find the height of the flagpe” °

to the nearest foot. (sin74=0.9613; cos74=0.2756;
£an74=3.487)

a. 4 b. 14 c. 52 d. 15U3

If x is a first quadran:t angle with tan x = 3, cot x =

a. 3/{10 b. ‘10/3 c. 2/3 d. none of +hese

What is the maximum value of y = tan x?

a. 0 b. 1000 c. 1 d. there is no maximum value

If x is a first quadrant angle with sin = 24/25, tan x =

x
a. 25/7° b. 25/24 c. 24/7 d. none of these

Which one of the following has no triangle solution?

20, B 70

9 ' b. A

© : e
30’ b 30, b

30, b = 20, c = 25

c. A = 30 b

= 11 d. A



36,

37,

38.

29.

40.

43.

Which of theEe statemgnts is false?
I. cos 45°- sin 45°= ¢

© [~}
JCI0 cos;30 + sid;30 = 1
") ) o
III. cos 45 + sin 45 = ]
8. Only I is false b. Only I and II are false

C. Only II is false d. Only III is false
€. All three statements are false

If the domain of the function f ={Yx,y): Yy = 2x + 33
is D =¢-1,0,1} then the range R of f is:

a. f-1,0,12 b. (1,3,53 c. $all real numbers)
d. ¢odd integersg . lnonnegative real numberss

. . . . ° °
-What is the area of right triangle ABC if A = 30, C = 90, anr

a=27?

a. 4 b. 2 c. 420 a. 20\F

0
Solve sin x - sin x = ¢ for x if 0<x <21

2 & {20 . So,"r/z,‘n'; a. §2, 3'11'/2;

. . o
ird 'si= 2308

I

a. 0.7330 Bl 0.0

(o
i)

0 =. -0.2120 =3 necre of +hese

Flesnbi=830 ang &= 4. Find cos A.

c. 11/16 d. -1/4 e. 7/8

b A8
Another name for 1 + tap X is:
: . & 2 2
a. sin,x b. cos x c. sec x

d. cot'x €. none of these

(=]

If tan x = -1, one value of x is:
0 (=] -}
a. 135 EB. 45 C 180 d. 120



S2.

53.

54.

w-
w

~}

u

[

=2
The radian measure for 105 is:

a. 7 /24 b. 7T /48 c. 7TM/12

d. none of these

sin (117 /3) = ‘
a. —fE?Z b. (1 -{3)/2 c. fE}z d. none of =hese

If cos®= 5/13 and sind= 12/13, and Banddare firse quadrant
angles, then sin (& +&) = :

a. 26/17 b. 13/17 c. 17/13 d. 17/26 e.
120/169

. . =] :
An incline makes an angle of 45 wi- h the level grourd. How
many feet up the lucllne MUST one go in order to rise 10 fee<«

aboxe ground?

a. 102 k. V210 c. 20 ¢. 10 ©  e. 1047

I
W
o
02

]

W

m i
B
o
.

"
N

®

)

'.4

e

o

i

. Given A23C wi<d 3 .
a. 3/{I3  b./\1/3 c. 3,2 4. 2,3

e. none of tHese

i e .
If sin 14 = 0.24, z=en sin 258 =

[] © . e

2. 2 sin l& cocs 14 = Sin l4 + cos 14
c. 0O.4¢8 ¢. 2 sin 134°
..... hich of the following is a formula for the area of triengle
53C°
a ab sin— b. ab cos C -

(l/zkab)51f d. none of these
Convert 3 radians %o degrees.
a. 3 (180, ) b. 3 (T /180)
c. 3 (1s0m) d. 37T

a . c
The positive angles {ess than 360 represernted. by arc tan (=1)
are:

o (] -} ) o e ’ = Q
a. 235, 315 b. f » 315 c. 135,235 d. 35, 135



3.

Write the letter of me' response that best answers each guestion.

. Find the distance between P(1, 3} and Q(-2. §). (Section 1-1)

a VB b. 5 e 73 d. V73

The domalin of a function is {—2, —1, 0. 1. 2}. The function Is described by the
equation y = 3x — 2. Find the range of the function. {Section 1-1)

s [-2,1.4) b. {—4.-2,-1,1,4)

e (-8, -5 -2.1.4} d. (-8, -5, ~2.5 8}

Find, in degrees, the measure ol a} counierciockwise rotation. (Section 1-2}
a 125° b. 270° e —135° d. 210"

Point P{x, y) Is on the termina! side of en anple with measure 8 in standard posi-

4,
lion. P Is iocated r units from the origin. Tell which statement is taise. (Sections
1-3 and 1-4)
X X - -r—
._,|no-¥ b. cos# =72 e coté=" d seco= =
8. Find the valus of tan 30°. (Section 1-5)
3 b. V3 c _\2§ d.2
3
8. Find the value of cos 225°. (Section 1-5)
V32 V2 . !
.2 b. =5 ©37 “3
7. Tell which angle is coterminal with 172", (Section 1-6)
s 18° b. —172° €. 432° d. —-188°
. Given that sin13° = 2250, find sin 183", (Section 1-6)
s 974 b. —.2250 ¢ 2250 d. —.5744
9, Tell which equallty is faise. (Section -4 T
a. sin (—8) = sin (180° + 0) b. cos (2 — @) = cos (—)
¢ cos (180" + ) = cos (360° — 8) d. sin (—6) = sin (360" —6)
/0. Telt which number you multiply by In order to change 213" to radian measure.
(Section 2-1)
a 2r b » c ? d
{[.- Reler to the figure at the right. Then find the value of
x to the nearest meter. (Section 1-8)
. x
.3m b.3¥5m
c 40m d. 405m T&m
12. The angle of depression from the top of a clit 600 meters high 1o the foundation
of & house is 33°40°. To the nearest meler, how lar Is the house from the foot of
the clif? (Section 1-9) ) ’
a. 901 b. 400 e 31
;g_ To find the distance lrom point C on the shore to point
A on Mapie island. a surveyor made the messurements
shown in the figure at the right. Find the distance AC
to the nearest tenth of a meter. (Section 1-10)
8 178 b. 173 c 18.1 d 187
14. Given that sin 73* = 95, c0873° = .20, sin41* = 66, and cos 41° = .75. evaluste
cosX2°. (Seclion 3-3)
a. -85 b, — .42 e 42 d. 8BS
I5. Evaluate sin 75* without tables. (Section 3-4)

LR (Vi-1) e (Vi) e vE-1)  d PvVi+

" Glven that sine = 42 and cos a = 81, evaluate sin 2a. (Section 3;5

a. 78 b. —.76 c .38 . d -.38



17 Find the &4 wality Hut ';f. {7_0;_;“" (dlenhid Y-

& lmcecle—cots

1
mun"o-—m:’n-t Lumo—m‘

{£ . FinZ tha sguality that is an identity. {Section 3-2)

' nln’l-'—-————'cl"‘ b _c:cl co* b+ 1§
- sacé
C ssCh=sind-lant d siné-gactbm=)

{4, Evaluals cos 15° without 1abies. (Section 3-3)

e ¥Vien _ e PvE-n cYivziny e diVE+

5 Questions 20—-22 refer +
Hne dichrAm at the left:

20. ”" F=10m end §= 12m, find +he radian measure 0{9.
(a) 0.8 (#) 1.2 (¢) 120 (x)t}'

1. I‘F S 10 m QnJ'ez% ) *FinJ r,
(mi"m (8) 2T m (c)Im (d) 50.m

22 ey awd F=Ib Em, ~frnd s
(@) 7200w (8 2% o (c) Yo @) Yern .

13 C\'\Lnojb%ﬂ-’ 4o Jeﬂrccs_ .
© 50° (£) 100° 200" @) 225°

Q%/ C,lqanjc 42°20° % radians.

5\(/ 12210 ) 1227 tz?ﬂ’
@ 25 Ol N T .‘170 =

25 The distance r fom the or‘njin 4o a Fom‘\' Pon the

Yerminel side of anm a glc_ in standard positon 15 the:
(

£y measure of the dnj‘f—

aL. An anj‘c is Quadrant gy whose refecence o.nj\e. is
237 s @201°377 (D158 24928 () 152377
;7 Qf: :\ This is "Hwe raF}\ o‘F

1 : > la)'3= escx )?‘Sce,x {ﬂlé=1‘vr-7- éﬂg=w{x
l?.’ﬂ;ulf\l 305&(»2 ZZ 7}J’)iwzx+/”

29 V{’)j,"iﬁnzx—flij
(‘1\7, (C)jﬂ— {J)W

f . ) .
(% The fre Utnc z-2snEx+ | s
> ?& w3 { 11&)/} e 2 4

) radius vestor () rotation é(«) rcc:Frpca/_



Name: Date:

Period: Trig Final Exam Review Solutions
1. D F4 g 4. D 55. P
2. B 52. 5. A 56. R
3., _C 53. _D 6. _B 57._A
4 _A 4. _(& 7. _A 5 C
5. _ B 55 _J 8. G 59. _A
6. _A 56. _F 9. _A B _B
7. _ D 57. _C 10. D 1.
8. _D % _3 11._B 2. _C__
9, B 59. A 12._ D 3. _B
10. _A o T 13. _A 4. _D__
11. _A 61. _F 14. € 5. _ A
12. B 62. _T 15._B 6. _B_
13, D 63. _F 16. _A 7. _D_
14. _A 64. T 17. B 8. B
15. _¢ 65. _F 18. _B 9. C
16. _D 66. _F 19._D 10._P
€ B W _T 20._ A 11._C
18- D 68 _F 21, C 12— A
19. _C 69. T 22._A 13._D
2. B 70. [~ 23._R 14. D
21. _R 1. _D 24._C 15._B
22. _13 2. _A ¥ D 16. _B_
23, C 3. C 26. C 17._C
24, 3 4. _B 27. B 18._ B8
25. _A 5. _C 28._A 19._D_
26. _A 6. D 2. B 20. _B__
27. _B 7. A 30. _D 21. A
28. A 8. _C 31._C 22._C
2. B 9. D 32. D 23._ B
30. _ P 10. _C 33. _D g P
31. _D 1. _A 34. C 25._ B
32. _C § B % _A 26. A
» _A . _b 36._D 27. B
X _C 14. _D 37._B 28._D
4 _,?__ 15. _A 38._ D 29. b
X A , 16. _C 39._C T
w. C 3 C 17. _A 40. D ¥
5. B . 8 18. R ¥ C
46._D M _A 42._C
47. _C 20. _A 43._A
8. D 1. D 52. C
9. _C 2. C 53, A
§ A % _C 54. L




Name:

Period:

Inverse Trig Functions

1. Draw y=sin"'x.

a.

The domain for y =sin”' x is

The range for y = sin™ x is

y =sin”' x is located in quadrants and

Date:

Trigonometry: Final Exam Review

?

y =sin~' x is positive in quadrant

y=sin"' x is negative in quadrant

2. Draw y=cos  x.

a. The domain for y =cos” x is

b. The range for y = cos™' x is

y= cos™ xis located in quadrants and

y =cos' xis positive in quadrant

=cos ! xis negative in quadrant
g q

3. Draw y=tan ' x.

a.

b.

The domain for y =tan™ x is

The range for y = tan~' x is

y =tan"" xis located in quadrants and

<
v
A
<
v
A
<

y= tan”' x is positive in quadrant .

y =tan~' x is negative in quadrant




Directions: Write the solutions to the following expressions in radians if the answer is an angle and a
fraction if the answer is a ratio!

a. sin'l(g] b. sin_l(— %J c. arcsin(~1)

d. cos_l[— —@J e. arccos(0) f. arctan(-1)

g. tan'(0) h. arcsin[— —g%j i.arccos(—1)

) tw[sin_l(-ézj] k. sin(cos‘l[——‘-/;—]] 1. cos{arctan(-+3))



